CALCULUS

Chain Rule problems
NEW




0380-1. Write eS"* as a composite f(g(z)).

NEW

State explicitly what the function f is,
and what the expression g(x) is.

d i
0380-2. Compute — [es'“ﬂ.

NEW dﬂj

0380-3. Write sin(e®) as a composite f(g(z)).
State explicitly what the function f is,
and what the expression g(x) is.

d
0380-4. Compute — [sin(e")].

NEW dw




475
0380-5. Compute — [(—:BT — 42° 4 1) }

NEW

d
0380-6. Compute o [%/a:ﬂ' — 2> — 4 + 8].
L

d
0380-7. Compute — [(3x2 + 4)38(323 — 33)151].

NEW da:.

0380-8. Compute i [tan (23;26 —+ T e)].

NEW dm




0380-9. Compute a [(64$+8) (csc a;)}.

NEW da:.

d
0380-10. Compute — {eCOt(?’”/Q)].

dx

0380-11. Compute % [cos2 (csc (:1;4))]

0380-12. -
Compute — |cos ({/tan (cot (a:3 + 1))) .

dx |




)380-13. Suppose f(4) =2, f'(4) =3,
g(1) =4 and ¢'(1) = 5.
Let h(z) = f(g(z)).
a. Compute h(1). b. Compute h/(1).

N

&?&80 14.Let f:R — R be a differentiable
p function.

a. Compute - [cot (f(x))].

d .
b. Compute — [f (cotx)].
dr

c. Compute a _f (e‘xﬂ.

dx L

d. Compute —[ _[f(x)]] :

dx




